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rhe modian value of series 25, 35, 28, 32, 30, 23 and 37 is
T 28 by 30
i 32 (d) 35
’ s 25, 35, 2832)30, 23 T 37 W waE W= A b
(@) 28 (b) 30
€} 32 (d)y 35

The unit to measure utility is

{a} metre {b) litre

{cy utl (d) kilogram
vt & W g §

(w) e (b) ®he

() g™ (d) fweiom

' The symbol of perfect elastic demand s
N (a) e€,=0 (b) e, =1

€} ey <l (d) e, ==

quiag @rae @i & fag @
) e,=0 (b) e, =1

) e, <1 (d) e =w

The physical relationship between inputs and outputs is called

~ (a) Production function (b} Consumption function
(¢} Investment function {d) Sawving function
st wd et w1 e wE wwER R
(a) FRT TR (b) I G
() Fdn woR (d) W FEH
I X7 3
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The example of implicit cost is
Rent of building
(c) Intcrest of capital
ATHTRA T @ ITECOT &
(a) w7 @& fea
(c) 1"-;?7: T A
The final good is
(a) Flour
(c) Sced
i awy &
{fa) FT

c} 94

(b) Wage of labour

(d) Usc of own resources

(b) FEw @ HAG
(d) E‘ﬁ%#ﬁﬁa‘fm

(b} Biscuit

(d) Cotton

(b) fage

(d) F9H

The methods of measuring National Income are

(a) Two

{c} Four

UL Y & e & fare &
(a)

(c) “I

The formula to calculate MPC is

_AS
(a) MPC=25
_AY

(c) MPC=2%

MPC 7O &1 §F &

_AS
(a) MPC-= v
| AY
(c) MPC=27
$ 88-318

(b} Three
(d) Five
b) &=
(d) 9=
AY
(b) MPC=2C
AC
_AY
(b} M.PC' AS
~AC
(d) =3
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' The basie function of Moncy is
~
(n) Store of value (b)  Measure of volue
() Standard of deferred payments (d) Transfer of value |
TR W WA W
(v) FFR @ UWE (b) I w HE
(¢) wma praEn & urw (d) FU w R
ll The example of indirect tax is
™
()  Income tax (b) Corporation tax
(¢)] Wealth tax (d) Service tax 1
WU E N IT &
(a) ¥ & (b) fam ==
(c) @AmfA &7 (d) T W
l_'. . Calculate arithmetic mean from the following data :
TN
52, 48, 57,43,60,67,72. = §7/ 3
Frslataa stvat @ st@niordg s &) oET &
52, 48, 57, 43, 60, 67, 72.
12 Give any three differences between Micro- and Macro-cconomics. 3
ez st @nfez s A &8 dF A aaRy |
|
|13, Explain the relationship between total utility and marginal utility. 3
N e s
Fo1 ITGi vd @ I & T AT |
i, Describe any three factors alfecting individual demand for a commodity. 3

~
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\'L Diffcrentiate between total fixed cost and total variable cost.
$1 fiwt e wd g witadll oA A SR W ST |
Iu Expluin any three fcatures of Monopolistic competition.
" e s @ et d faensi @ S |
17.  Describe three basic cconomic activilies.
A Srya snfae fafahual @ aut #ifg o

I18. If the Marginal Propensity to Consume ( MPC ) is 05, calculate the value of

multiplicr. : _
afz &=t 3w wgfa (MPC ) 0-5 & At T & W @) TR FifAg
19. What is meant by Monclary Policy ? Explain briefly any two instruments of it.
Rifds =iifer & Far sfwmg & 2 vad fo < o B A9 T FEA |

4!\(2. If MPS is 0-2 and investment increases by Rs. 100 crores, what is the increase

wod preoqueyiseler mmm//:sdpy

in income ?
afs MPS 0-2 ¢ 3 fraw & 100 w1 792 ¥} gfe aat & o s o feaet gfa &t 2
21. Find the range and its co-efficient from the following data :

| Sizxe 10-20 | 20-30 | 30-40 | 40-50 | 50-60
| Frequency 12 13 15 14 12
Frefafan el 4 faw@r @ @@ e e S
| FIER 10-20 | 20-30 | 30-40 | 40-50 | 50-60
[ o [ 12 13 15 14 12

22.  What is production possibility curve ? Describe any two features of it. !

JeqIEA VT T o & 2 399! et 3t favmenadt @ aviA Fifag

23. What is the law of supply ? Mention any four assumptions of it.

mﬁmmmmﬁi?mﬁﬁmmﬁmmml
r=m s . INIEnEEE
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ultancous changes, in demand and supply on

g What is the effect of sim )
~  equilibrium price ? Explain. p 4
mqﬁqﬁﬁmmufméamﬂqmmmwmmt ? AT |
5 Differentiate stock and flow. 4
~  3ors mi gaw i 3R TR HA |
26, Write any four demerits of barter system. 4
- mf-f:mwnm-ﬁmnnmqﬂlfam l
7. Calculate Spearman’s rank corrclation from the following data : 6
h T =
} Marks in mnfli - 40 42 45 35 36 39
| Marks inEnglish | 46 | 43 | 44 | 39 | 99 43
e 3iel @ TGN Wi WA WA FA
.fﬁ‘;‘ % wra 40 42 45 35 36 39
sAdwers | 46 | 43 | 44 | 39 | 40 43

24 What is the Consumer ® Price Index ? Explain any four issues in the

12, Whatisco

S i 3 e wEd § 2 @i & & feR W R W avE S

i . . -
construction of index number. https://www.rajasthanboard.com 6

wnimqaaqvmhﬂimﬁ?mﬂﬂmﬁmﬁmwmmﬂﬁ
HUSIIN

g of Pricc clasticily of demand. Explain the geometrical
6

) Write the mecanin

wod piroqueyiseler mmam//:sdyy

method of measuring price clasticity of demand.
wi o+ FmE @g w ag feran |ﬁﬂﬁﬁmﬁﬁﬁlﬂmﬁﬁmﬁﬂﬁrﬂfaﬁﬂ
unEI |

30.  Explain the law of variable proportions with the help of diagrams. 6
et mﬁ#mﬁﬁiﬁﬁﬁﬁmﬁm |

31.  Explain in detail the value added method of measuring national Income. 6

T i v o w9 g i fa @ Faem @

mmercial bank ? Describe any four functions of commercial bank. 6
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